

$$f(n+1) = \left(\frac{1}{r}\right)^{(n+1)-r} - 1 = \left(\frac{1}{r}\right)^{n-1} - 1$$

$$x^r \left(\left(\frac{1}{r}\right)^{n-1} - 1 \right) \geq 0$$

$$\text{if } \begin{cases} n < 1 \rightarrow + \\ n = 1 \rightarrow 0 \\ n > 1 \rightarrow - \end{cases}$$

منفی است

(1)

چون $n=0$ پس $n=1$ ✓

$$D = [0, 1] \quad \text{چون } 0 < n < 1 \quad \checkmark$$

$$n=1 \quad (0 = \text{مقدار}) \quad \checkmark$$

$$f(-n) = \sqrt{-n + |-n + r|} = \sqrt{-n + |r - n|}$$

$$\begin{aligned} n \leq r &\rightarrow |r - n| = r - n \rightarrow -n + (r - n) = r - 2n \rightarrow r - 2n \geq 0 \rightarrow -n + |r - n| \geq 0 \\ n > r &\rightarrow |r - n| = n - r \rightarrow -n + (n - r) = -r \rightarrow -r \geq 0 \rightarrow r \leq 0 \end{aligned}$$

$$D = (-\infty, 1]$$

چون $-r < 0$ پس $r > 0$

$$\sqrt{n-1} \geq 0 \rightarrow n-1 \geq 0 \rightarrow n \geq 1 \quad \bullet \quad f(n) \neq 0$$

$$(-\varepsilon, 0] \cup [0, r) \cup (r, \infty)$$

$-\varepsilon, r, \infty$ جزء جواب ها نیستند

$$D_{y, y, r} = \mathbb{R} - \{\text{ریشه های معادله}\}$$

$$9n^4 - 4n^2 - \varepsilon n - r = (3n^2 - n - r)(3n^2 + n + 1)$$

$$3n^2 + an + b = 3n^2 - n - r \rightarrow a = -1 \quad b = -r \quad \text{چون } a+b = -1-r = -\varepsilon$$

$$f\left(\frac{\varepsilon}{n}\right) = \left(\frac{\varepsilon}{n}\right)^r + \frac{\varepsilon}{n} = \frac{9\varepsilon}{n^r} + \frac{\varepsilon}{n} \rightarrow y = \sqrt{n^r + n - \left(\frac{9\varepsilon}{n^r} + \frac{\varepsilon}{n}\right)}$$

$$y = \sqrt{n^r + n - \frac{9\varepsilon}{n^r} - \frac{\varepsilon}{n}} \rightarrow n^r + n - \frac{9\varepsilon}{n^r} - \frac{\varepsilon}{n} \geq 0, \quad n \neq 0$$

$$\frac{n^4 + n\varepsilon - 9\varepsilon - \varepsilon n^r}{n^r} \geq 0, \quad n \neq 0 \quad \xrightarrow{n^r = t} t^r + \varepsilon^r - \varepsilon t - 9\varepsilon = (t - \varepsilon)(t^r + \varepsilon^r + 14)$$

$$n^r - \varepsilon = 0 \rightarrow n^r = \varepsilon \rightarrow n = \pm \sqrt[r]{\varepsilon}$$



$$(n^r - \varepsilon)(n^r + \varepsilon^r + 14)$$

$$D = [-r, 0) \cup [r, +\infty)$$

$$n^r + n = r \quad \xrightarrow{n=1} 1(1)^r - 1 = 1 \rightarrow v+1 = \sqrt[r]{r}$$

$$n^r + n = 1 \quad \xrightarrow{n=r} r(r)^r - 1 = v \rightarrow v+1 = \sqrt[r]{r}$$

$$(a+b)^r = a^r + r a^{r-1} b + r a^{r-2} b^2 + \dots + b^r$$

$$n^r + 9n^r + 14n \rightarrow (n+10)^r - 14$$

$$g(\sqrt[r]{v} - r) = ((\sqrt[r]{v} - r) + r)^r - 14 = (\sqrt[r]{v})^r - 14 = v - 14 = -10$$

$$n^r - 9n^r + 14n \rightarrow (n-r)^r + 14$$

$$f(\sqrt[r]{r} + r) = ((\sqrt[r]{r} + r) - r)^r + 14 = (\sqrt[r]{r})^r + 14 = r + 14 = 10$$

$$\frac{-10}{10} = -1 \quad \checkmark$$

طریقہ حل دستی

$$A^2 = f^2 + g^2 + 2fg \rightarrow (n+\epsilon\sqrt{n-\epsilon}) + (n-\epsilon\sqrt{n-\epsilon}) + 2\sqrt{(n+\epsilon\sqrt{n-\epsilon})(n-\epsilon\sqrt{n-\epsilon})}$$

$$A^2 = n^2 + 2\sqrt{n^2 - \epsilon^2(n-\epsilon)} = 2n + 2\sqrt{n^2 - 14(n-\epsilon)}$$

$$n^2 - 14n + 14\epsilon \rightsquigarrow (n-7)^2 \rightsquigarrow \sqrt{(n-7)^2} = |n-7|$$

اگر $\epsilon \leq n \leq 7$

$$|n-7| = 7-n$$

$$A^2 = 2n + 2(7-n) = 14 \rightarrow A = \epsilon$$

اگر $n \geq 7$

$$|n-7| = n-7$$

$$A^2 = 2n + 2(n-7) = 4n - 14 = \epsilon(n-\epsilon) \rightarrow A = 2\sqrt{n-\epsilon} \rightarrow a=0, b=2, c=-\epsilon$$

$$f(n) + g(n) = a + b\sqrt{n+c}$$

$$\frac{0+2}{-\epsilon} = \frac{2}{-\epsilon} = -\frac{1}{\epsilon}$$

$$f(n) = \frac{n+2}{n^2 - \epsilon n + 7} = \frac{n+2}{(n-3)(n-1)} \rightarrow n \neq 1, 3$$

مستثنیہ

$$n=2 \rightarrow \frac{\epsilon}{(-1)(1)} = -\epsilon \rightarrow \frac{g}{f}(2) = \frac{1}{-\epsilon} = -\frac{1}{\epsilon}$$

$$n=0 \rightarrow \frac{2}{(-3)(-1)} = \frac{2}{3} \rightarrow \frac{g}{f}(0) = 4$$

$$\frac{g}{f} = \left\{ \left(2, -\frac{1}{\epsilon} \right), (0, 4) \right\}$$

$$\text{الف) } \left\{ \left(\frac{1}{\epsilon}, 2 \right), \left(\frac{5}{\epsilon}, 1 \right), (2, 2), \left(-\frac{1}{\epsilon}, 4 \right) \right\}$$

$$\text{ب) } \left\{ (1, 2), (-1, 2), (\sqrt{5}, -1), (-\sqrt{5}, 1), (2, 2), (-2, 2) \right\}$$

$$\text{ج) } 2g(n) + 1 = \left\{ (-2, 19), (1, 3), (3, 9), (-1, 1) \right\}$$

$x \times (x^2+1)$

$$\text{د) } D_n \rightarrow \left\{ \frac{1}{x}, 2, -1 \right\} \rightarrow \frac{2 \times f(1)}{g(1)} = -\epsilon$$

$$\frac{2 \times f(2)}{g(2)} = -1 \rightarrow \left\{ (1, -\epsilon), (5, -1) \right\}$$

(۳) سینه، $-۴, ۲, ۳ = f(n)$ ، (سینه صورت هم $n=1$)

-۵	-۴	۱	۲	۳
	$-$	$+$	$-$	$+$
	$\bar{0}$		$\bar{0}$	
			$\bar{0}$	

$$D_f = (-۴, ۱) \cup (۲, ۳)$$